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uupnrtg0 X X 19775.6 19775,6 X
urn adnrd' 0,0

31211340 i t bUmnu h 0b nqhut h rl uur ruUununnr r) UU rdu/d 671,6 671,6 14925.0
094 1 1 700 n0uulrLu0 ouq UU UJ 145 2449.3 2449.3 16892,0
41111100 u0bl nL 9nh ilLumuUununnLrJ UU d3 153 509,9 509,9 3333.0
6131100 1 urq uu u u1 u nd uu 0 h Lu tl Lu U ru nqh Ln b fu 0 h tr u.r U r-u 0 u uru u r UU rutJhu/bnurlu 7000 28.0 28,0 4,0

24451190 Undnn[tbnh nbd u.ttutpuunh 6unurnrrarnL[r[rbn UU urlhu 6000 72,O 72,0 12.0
9631400 0ruu0uqhurrulruL0 Unn d 0nnn rdu[r dunurnLnrnL 0 lrhn UU r']nuL) 30000 120.0 120,0 4.0

15811110 hLuq, hnLuqnu[r UU q[1nqpL-ut) 450 1800,0 1800,0 4000,0
1 5530000 qLUnuq q< qht nqnul[ 4600 3220.0 3220.0 200.0
15421100 rupLrtu0urqllfr dhB, nu.!fr0LuqU u6, (q Lnurd) r+< nmn 900 270.0 270.0 300.0
1 583 1 000 2urButnruUuq uuhunuLt c< Ihr nqnud 390 390.0 390,0 1000,0
1 53 1 3000 !Lunmnght q< !hr nqnud 240 1080,0 1080.0 4500.0
15331161 unru, qt nrru r+< !hlnqnut) 300 75.O 75.0 250.0
1 5851 1 00 rlruULunn[r !ht nqnud 400 320.0 320.0 800.0
1 56 1 6000 h0nUudLurl Lun q< |lht nqnLuU 310 213.5 213.s 350,0
032 1 1 300 Fnh0d q< !ht nqnLuu 450 157,5 157.5 350,0
15331 153 nuq, u.rdpnrlgurltuO q< llhtnqnud 885 221.3 221.3 250,0
1 56 1 7000 qnnbtrLudurrl urn q< UhtnqnLud 450 76.5 76.5 170.0
1 5333 1 00 unnduunh rlu6nLtr q< IhtnqnLu0 905 45.3 45,3 50,0
15872400 un, UbnLuUnh, du0n q< UhtnqnLud 200 36.0 36,0 180,0
1 5863200 Bbr, ul., c< UhrnqnLud 1 2000 72.0 72.O 6,0
151 1 1 120 muuUunh dhu, LnbnuUu0 rhruhnLLt q< UhrnqnLud 4000 400.0 400,0 100,0
15112180 hurtlh UndBurdhu q< !ht nqnud 2200 990,0 990,0 450,0
15112150 hruLl h rl ubn h p, LuLun b gn ur6, mbn Luttru 0, urj p nn gutl u a/

Uhr nqnud 1 800 540.0 540.0 300.0
151 12151 hLudh nnrn LnbnuLttru0 q< lhtnqnLutl 1 800 810.0 310,0 450,0
0314210Q 0bnn, n0uttLrtr q< UhrnonLuLl 4000 244.0 240.0 60,0

397 11260 rl Lu$rh q< UhtnqnulrJ 900 180,0 180,0 200,0

1 582 1 500 purnqn aluU ruO punrhn0bn q< UhtnqnLud 760 152,0 1s2,0 200,0

03142510 dnL. 01 ULunq q< nulLn 75 472,5 472,5 630o@;r3c UU
15511700 Uuph rhnrh \+< Lhr nonLud 2500 100,0 100,0 40j[,-> '9;:
1 551 1 600 lu Ln Luqn ur6 Lt Lup : urpunnU q< Uhr nqnud 1310 327,5 327.5 Z{fufi.Pr-<t
1551'1610 lumLugnuud LtuB hnhuttur q< ;htnqnulrl 1220 80,5 80,5 €q

1 s55 1 600 dtu6nr0, UnLlh Uuphq q< Jht nqnLUd 600 420.0 420,0 I,e
15541200 uLu0hn, iulLufLr a< lhtnqnLud 2300 345,0 345,0 1

15542100 L.i uFtr ur 2 n n nuuuLl urtj q< ![lnqpuir) 2500 150,0 150,0 r"rN

33r

1 55 1 2000 ppr] ruubn, mbq Lulur tr n/
Uhr nqnuU 1 500 22s,0 225,0

;8ffi"?il15612180 curndn mbuu,r[rh onnb0h ur rnLn L+< !hr nqnurd 325 130.0 130.0
15332250 dnqLurh0 dudnL!0bn Lr< LnnrLn 480 384.0 384.0 800,0
5331 164 qLuqurn 6/ Uht nqnurU 240 16,8 16.8 70.o

03221410 UunLrdn dupnr-ud ^,/ UhrnonLud 180 126.0 126.0 700.0
5841 100 ur.xur.I]n q< UhtnqnuJr) 3200 35.2 35.2 1 1.0




